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ESSENTIAL VOCABULARY - 5 
 
1. My eyes began to get tired after an hour of ---- 

the exam papers. 
 

A) controlling 
B) vanishing 
C) devoting 
D) rumouring 
E) checking 

 
 

2. Constipation is not a direct consequence of 
normal aging, but there are several factors 
that may contribute to its increased ---- in 
older adults.   
 
A) regulation 
B) conversion 
C) prevalence 
D) precaution 
E) comparison  
 
 
 

3. Sara had to be ---- when speaking Chinese, 
because she didn’t want people to 
misunderstand her.   
 
A) careless 
B) watchful 
C) eventual 
D) accustomed 
E) content 
 
 
 

4. In order to ---- prepare for the exam, you must 
do lots of practice questions. 

 
A) sufficiently 
B) reluctantly 
C) formerly 
D) ordinarily 
E) disputably 

 
 
 
 
5. Kevin couldn’t join his friends for lunch 

because he found that ---- money from 
someone was rather embarrassing. 

 
A) abusing 
B) introducing 
C) witnessing 
D) lending 
E) borrowing 
 
 

6. The waters are receding, but the ---- done to 
the country will take years and a better 
government to repair. 

 
A) relief 
B) fertility 
C) hazard 
D) justice 
E) damage 
 
 
 
 

7. A lot of researches have confirmed that 
pregnant women are more ---- to serious 
illness as compared to other healthy people. 

 
A) susceptible 
B) negligible 
C) substantial 
D) reversible 
E) considerate   

 
 
 
 

8. Fossil fuels such as coal, oil and natural gas 
are ---- responsible for the release of large 
amounts of carbon into the atmosphere. 
 
A) slowly  
B) largely 
C) carefully  
D) scarcely  
E) curiously 
 
 
 

 
9. Most people with a slight mental disorder can 

be ---- at home, rather than in a mad hospital. 
 

A) treated 
B) permitted 
C) omitted 
D) attended 
E) replaced 
 
 
 

10. Turkey continued giving full support to flood-
stricken Pakistan and called on the 
international community to send more ---- to 
this country. 

 
A) survival 
B) aid 
C) demand 
D) riot 
E) trouble 

1  
 



 

11. Kidney disease, which is caused by damage 
to small blood vessels in the kidneys, leads 
to the kidneys becoming less ---- or to fail 
altogether. 
 
A) infertile 
B) efficient 
C) fruitless 
D) useless 
E) ineffective 

 
 

12. The term globalisation is used to refer to a 
variety of ways, in which countries are 
becoming ---- integrated both economically 
and culturally. 
 
A) indifferently     
B) generously 
C) depressingly 
D) enduringly  
E) increasingly 

 
 

13. When you ---- a telephone call, it is the 
operator’s job to connect you to the person 
who you are calling. 

 
A) do 
B) hold 
C) make 
D) witness 
E) assume 
 
 

14. The public ---- to the shooting of a black 
teenager by a police officer started a wave of 
rioting across the country last weekend. 

 
A) reaction 
B) recovery 
C) observation 
D) entertainment 
E) disaster 
 
 

15. Complications of mumps are rare but can be 
serious and may require ---- treatment under 
a professional’s care or even hospitalization. 
 
A) puzzled 
B) additional 
C) resistant 
D) considerate 
E) respectful 

 
 
 
 
 

16. Zeatin, a special plant compound, gives the 
plant its ---- fast growth and its outstanding 
capacity to regenerate. 
 
A) deliberately 
B) interchangeably 
C) exceptionally 
D) indiscriminately 
E) contradictorily 

 
 
 

17. He asked her doubtfully whether she was ---- 
the truth about going round to her friend’s 
house for the evening. 

 
A) making 
B) raising 
C) telling 
D) saying 
E) blaming 
 
 
 

18. Vitamins and minerals nourish your body, 
support normal ---- and development, and 
help the cells and organs do their jobs. 
 
A) failure 
B) inability 
C) ravage 
D) growth 
E) damage 

 
 

19. Upon their arrival in the peninsula, the first 
Europeans started to consolidate their 
territories and to settle into a secure and ---- 
environment. 
 
A) permanent 
B) respective 
C) inadequate 
D) compulsive 
E) persuasive 

 
 

20. Breastfeeding is known to reduce the 
likelihood of ear infections ----, and to prevent 
recurrent ear infections. 
 
A) reversibly 
B) vulnerably 
C) redundantly 
D) incoherently 
E) substantially 
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21. Even though we might not look alike, all 
living things, including bananas and people, 
are ---- the same basic material. 

 
A) put up with 
B) made up of 
C) cut down on 
D) looked down on 
E) gone in for 
 
 
 

22. Archaeologists have just ---- more than fifty 
ancient Egyptian tombs, most of which hold 
an ornately painted wooden sarcophagus 
with a mummy inside. 

 
A) given up 
B) taken off 
C) put off 
D) come across 
E) passed away 
 
 

23. Schizophrenia, which is similar to other 
genetically-related illnesses, appears when 
the body ---- hormonal and physical changes. 

 
A) lays off 
B) breaks out 
C) puts away 
D) brings up 
E) goes through 
 
 

24. This article, which ---- improving access to 
health care services through insurance 
reform, reflects the primacy of health care 
over public health. 

 
A) runs off 
B) throws away 
C) makes up 
D) turns down 
E) focuses on 

 
 

25. Shopping goods are goods in which the 
consumer is willing to ---- a great deal of time 
and effort. 
 
A) make up 
B) give off 
C) bring about 
D) put in 
E) make out 

 
 
 
 

26. The average life expectancy in the middle 
ages was much lower than in most nations 
today, which largely ---- higher rates of infant 
mortality and a lack of medical assistance. 
 
A) puts down 
B) figures out 
C) gives away 
D) takes over 
E) stems from 
 
 

27. A good architect can construct a house that 
will be more energy-efficient, by ---- the 
natural features to keep the home cool in 
summer and warm in winter. 
 
A) making up for 
B) giving rise to 
C) putting up with 
D) catching up with 
E) taking advantage of 

 
 

28. Tropical ecologists, like other ecologists, are ---- 
the natural environment and the complex 
relationships of the organisms which inhabit it. 

 
A) bored with 
B) accustomed to 
C) concerned with 
D) addicted to 
E) synchronised with 
 
 

29. The tropical climate is quite varied, ---- very 
cold, dry weather on mountain peaks in the 
tropics to hot, humid weather in tropical 
valleys. 

 
A) making out 
B) handing over 
C) taking on 
D) ranging from 
E) looking for 
 
 

30. Clinical trials seek to ---- whether a drug 
works as expected. 
 
A) wear off 
B) put up 
C) tell off 
D) find out 
E) make up 
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31. Ear disorders prevent you ---- detecting 
certain sounds from your environment as 
well as affecting your sense ---- balance. 

 
A) from / of 
B) against / by 
C) about / in  
D) over / upon 
E) below / off 

 
 
 

32. Mumps is spread ---- infected droplets of 
saliva that can be inhaled or picked up from 
surfaces and transferred ---- the mouth or 
nose.   
 
A) across / out 
B) from / along 
C) through / into 
D) out / against 
E) with / between  

 
 
 

33. Mining is a hazardous occupation, and the 
safety ---- mine workers is an important 
aspect ---- the industry. 

 
A) of / of 
B) among / to 
C) for / on 
D) about / by 
E) by / into 
   
 
 

34. Thousands of years ago, great scholars 
taught ---- the scriptures, which were orally 
carried ---- generation to generation. 

 
A) upon / beyond 
B) by / without 
C) against / between 
D) with / into 
E) through / from 

 
 
 

35. Protein is needed to build lean muscle and 
the more lean muscle you have ---- your body 
the more efficient your body will be ---- 
burning fat. 

 
A) in / at 
B) from / by 
C) at / over 
D) for / during 
E) by / against 

 

36. The warmer atmospheric temperatures 
observed ---- the past decades are expected 
to lead ---- a more vigorous hydrological 
cycle, including more extreme rainfall events.  

 
A) for / by 
B) on / off 
C) in / up 
D) since / on 
E) over / to 
 

37. Most scientists believe that hydrogen atoms 
were the first atoms to form ---- the early 
universe and that the atoms of the other 
elements formed later ---- the hydrogen atoms. 
 
A) by / to 
B) on / at 
C) in / from 
D) from / off 
E) at / about 
 

38. Patients whose hearing failure cannot be 
cured ---- medical therapy could make use ---- 
medical aids that intensify sounds. 

 
A) by / of 
B) from / to 
C) for / against 
D) with / up 
E) off / alike 
 

39. The age ---- which puberty starts is 
something that many children worry ----. 
 
A) of / with 
B) for / to 
C) at / about 
D) among / up 
E) down / under 
 

40. ‘Envy’ involves a longing ---- what you don’t 
have, whereas ‘jealousy’ is provoked ---- 
losing something to someone else. 

 
A) to / on 
B) for / by 
C) by / off 
D) with / about 
E) over / between 
 

ANSWER KEY 
1 E 9 A 17 C 25 D 33 A 
2 C 10 B 18 D 26 E 34 E 
3 B 11 B 19 A 27 E 35 A 
4 A 12 E 20 E 28 C 36 E 
5 E 13 C 21 B 29 D 37 C 
6 E 14 A 22 D 30 D 38 A 
7 A 15 B 23 E 31 A 39 C 
8 B 16 C 24 E 32 C 40 B 
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